Farnworth v Kearsley
Farnworth won by 1 Wkt

Kearsley

C Baxendale lbw b Ali 16
R Hamblett ¢ Hyde b Ahmad 5
P Morris c Ali b Younas 6
KHALID Ibw b Ahmad 26
C Murray ¢ Younas b Ali 0
R Chaisty c Ali b Younas 8
M Baig b Ali 20
J Capstick run out 31
A Lord b Younas 10
M Jameel b Mirza 1
S Nice not out

Extras 22
Total 145 for 10
Bowling

Younas 18-5-44-3
Ahmad 9-1-35-2

Ali 12-3-33-3

Sutton 5-0-20-0

Mirza 1.1-0-4-1

Farnworth

J Kerrigan ¢ Murray b Jameel 13
R Sutton ¢ Murray b Baig 0
| Mirza ¢ Murray b Baig 4
Younas b Jameel 0
ALl ¢ Murray b Baig 0
S Booth b Jameel 86
N Hyde ¢ Chaisty b Baig 10
K Rogerson ¢ Hamblett b Baig 0
| McLellan Ibw b Baig 0
A lshaq not out 17
T Ahmad not out 2
Extras 19
Total 151 for 9
Bowling

Jameel 18-4-56-3

Baig 12-2-35-6

Khalid 12-3-26-0

Lord 2-0-14-0

Morris 4-2-12-0



